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ffiffierffiD
To write number words through hundred millions

To change the value of a large number by increasing
or decreasing one of the digits by a multiple of 10

To multiply 4-digit numbers by 3-digit numbers

To round numbers to the nearest multiple of 1,000

To divide by 2-digit divisors

To learn about commutative and associative properties
of addition and multiplication

To learn identity properties of addition and
multiplication

To find common factors and determine the GCF

To write fractions in simplest form

To identify prope4 imprope4 and equivalent fractions

To change improper fractions to whole or mixed numbers

To add and subtract mixed numbers with like fractions
and write the answers in simplest form

To make and interpret bar graphs

To solve word problems

Read to your supervisor.

Behold, how
dwell together

learn to work
and live with

I Mother said that she will bake
\ some cookies while we are helping

\ 
her clean the house.

Psa lm |  33 :1

NOTE to student and supervisor: Be sure to write over each gray example before proceeding to the next
activity question.
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others in unity

Learn this Scripture Verse

good qnd how pleosont it is for brethren to
in uni ty !
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The three main headinss on

and

this place value chart are

The three places under each main heading are

and

On the blanks under the place value chart, write a 3 in each of the ones'places, write a 5 in

each of the tens' places, and write a 2 in each of the hundreds' places.

\s'r Write the value of the digit you wrote in the ten millions'place.

Write the value of the digit you wrote in the ten thousands'place.

Write the value of the digit you wrote in the tens'place.

l i r t ' . l i ' ' i , .  i l ! - ' r t a . r \  i ( i  \ r ) l i l  S r , i l ( r i  t  i S ( ] i

The two largest states in the United States are Alaska and Texas. Alaska has an area of

57l,95l square miles, or 1,481,352 square kilometers, while the area of Texas is 261,797 square

miles, or 691,201. square kilometers.

Howeve4 there are more people living in Texas than in Alaska. According to one census,

there were 21,325,018 people living in Texas and 634,892 people living in Alaska.

The Pacific Ocean, which has an area of 165,384,000 square kilometers, is over twice as large

as the Atlantic Ocean, which has an area of 82,217 ,000 square kilometers.
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Cover photogrophs: Humpbock Whole (Novo Scotio
Tourism ond Culture); Boch Archwoy (Florido Deportment
of Commerce. Division of Tourisml
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Psalm | 33; I

For activities (7)-(9), please be sure student reads each
number correctly.



(Aaa. Do not write the answers. Say the answers as fast as you can.

(8) 1
I

+ 2

(2) g (3) 
4 (4) 6 (s) 8

+ 2  + 5  + 6  + 4
? ? ? ?

o) F'
I

+ 4

(e) 4
+ 9

?

9
+ 8

2

( t0)

(17) ( lE)

(4r) | 4 (42)

_ 7
?

(4e) l8 (so) 8
9  - 3

(14) ( ls)

(22) (23)(20) (2r) 7
+ 0

?

(s2)  t l  (s3)  g
-  4  - 8

?

| 4 (61)

8

8
+ )

,

4
+ 7

?

( l l )

( te)

(se)

5
+ 3

?

5
+ 6

)

)

+ 8
?

3
+ 7

?

6
+ 2

(12)  g

+ 6
7

(13)

(6) 5
+ 9

(7) 6
+ 3

7

(3e) I 0
- 4

?

?

8
+ 3

?

7
+ f

-

I
+ 9

?

8
+ 6

?

(16) 6
+ 4

)

(24)

( 2 s ) 8 ( 2 6 ) S \ 2 7 ) g ( 2 8 ) 5 ( 2 e ) Z ( 3 0 ) 7 ( 3 1 )

+ 7  + 1  + 7  + 4  + 8  + 3
? ? ? ? ? ?

(Subtract. Do not write the answers.Sa/ the answers as fast as you can.

(3s1 8 (3+)  t5  (3s)  g  (35)  t2  (32;  t l  (38)  7

. (.32l
o

+ )
?

(40) 6
- 3

(48) g
- 6

?

1 7  e 7 )  4
9  - 3
?

7
- 4

?

8
- 5

?

7
- 1

(s6) 8
- 7

?

2
+ T

?

)

- 2

?

-  7  - 4  -  6 8  - 5

(43) (44) ( 4 s )  1 2
- 3

)

(46)

(s4)(s l )  g
- 2

?

1 4  ( s s )  t 6
5  - 7

(s?)

?

9
I

7
- 2

(60)

?

I 5 (s8)

9

?

I 0 (62)

) -

?

t 2  ( 6 3 )  g ( # )  t 0
- 7

)
I  - s

(Can you say all the answers on this page in 4 minutes or less? Practice until you can. Then say the
answers to your superviso4 or ask your supervisor for a student to assist.

4



( Aaa. If the sum is in the millions, remember to place a comma after the millions'place and after the\-
tnousancls place.

/ . \  I  I  I0 )  z i i , g z l  ( 2 )  3 5 3 , 1 9 3  ( 3 )  g 6 , 5 7 1  ( 4 )  6 4 , 4 4 6
+ 8 5 6 , 3 8 6  + 7 6 3 , 4 2 3  + 3 0 , 1 7 8  +  7 , 9 4 4
l , o 7  4 , 2 0 9

( s )  5 8 4 , g 2 6
+ 7  6 3 , 2 2 1

( 6 )  5 r 4 , g z 3
+ 5 5 0 , 6  1 5

( 7 )  
1 6 , 7  6  6

+  8 , 6 7  |

(8) g,o 7 g

+ 9 7 , 0 7 1

(Complete these activities for the number sentence 151

(9) Are the addends even or odd numbers?

+ 39 = 190.

Is the sum an even or odd number?

(10) Write a number sentence showing the commutative property.

(ll) Write a number sentence showing the inverse operation.

(rina the difference.

( r2 )
4 5 5 , 6 8 5

- 1  4  6 , 1 9  3

( 1 3 )  
g 5 0 , 4 8 6

- 1 7 7 , 8 2 8

(14 )
3 5 , 3  1 1

3 , 9 9 6

(  15)
3 9 , 0 6 0

- 1 9 , 3 7 5

(Complete this Bible activity and learn some interesting facts about Methuselah, the oldest man
who ever lived.

(16) Methuselah was

Lamech was

Methuselah lived

the Flood.

years old when his son Noah was born (Genesis 5:28,29). Noah was

Methuselah's grandson. Using the information you've gathered so far, Methuselah was

years old when Noah was born. Noah was years old when the Flood

began (Genesis 7:6). Methuselah would have been years old when the Flood began.

years old when his son Lamech was born (Genesis 5:25).

years (Genesis 5:27). Therefore, Methuselah died the year of

Scorethispage. tr Correct mistakes. tr Rescore. I
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( Complete these multiplication and division tables as fast as
vou can. Some of the division answers will have remainders.
Time yourself.

Start time:

Finish time:

(z',)

(3 )

x 7 3 2 l 0 6

) t 4 6

I

3

7

I

x 9 6 I I 4

I

6

4

l 0

J

(4)
t 0 32 27 t 2 36

4 2R2 8 6R3 3 9

6

3

I

I

48 54 24 36 t4

5

8

6

9

I

Score this page. I I Corect mistakes. Rescore. I

If all 93
problems are

correct, and-

If you worked

the problems in
less than

9 minutes-

You may continue
with this PACE.
If not, please see
your supervisor.



ect answer on each blank'

(1) What is the difference between 12 and3?

(2' What is the product of 12 and3?
(3') What is the sum of 12 and3?
(4' What is the quotient of 12 and 3?
(5) What is the product of the difference between 12 and 3 and the quotientof.12 and 3?

e the number sentence being described'

(6) The subtrahend is 18 and the minuend is 48.

(7'' The divisor is 9 and the dividend is 63.

10, 100, or 1,000. Remember: Do not place the commas until you have finished

number.

(E) 5,890 x loo =
(9) 4oo x l,ooo =

(10) 2,300 x lo =

(r1) 16,824 x lo
(r2) 1,ooo x 1,400
(13) too x t7

(nn.tttipty.

(r4)

( le)

4 4 3
x 2 2 0

(15)
t 4 l

x 6 4 9

(20\ 8 7  2
x  5 0

(16)
6 1 8

x 3 0 1

( 2 r )  6 3 6
x  7 6

(r7)
4 5 9

x 4 0 0

(18)
3 2 0

x 7 5 8

( 2 3 )  5 4 0
x  8 0

1 , 3 8 7
x  4 8

(22) 6,1 | 5
x 3

7



I will enjoy playing
basketball *iiti -v friends
this weekend. Exercise
helps me think better.

My friends will
understand that I
must leave early.

(fil in the answers as you read.

(4) 83@78 83,000

(s) 72,50g

(6) 1,7g5

(circle the number in the hundreds'place; then round the number
(3) g@z

to the nearest multiple of 1,000.
( l  l )  5 ,0g5

(r2) 
98,622

(13) 4Jgg

(ra) 1,4g7

(7) sn

(8) 2,297

(e) 
3gg

(10)  3 ,6 ! l

(underline the nearest multiple of 1,000 for each given number.
(1s) 

4Jg7

(16) 
850

(r7' 
69,702

(18) 2,655

when we round numbers to the nearest murtiple of 1,000, we look
at the number in the hundreds'place.

1. If the number has 4 or less hundreds, we round the number dov,rn
to the nearest multiple of 1,000. The number 3,469 has 4 hundreds,

so 3,469 is rounded (1)

2. If the number has 5 or more hundreds, we round the number up to
the nearest multiple of 1,000. The number 21,6g2 has 6 hundreds, so
21,682 is rounded (2)

to 22,OOO.

?

t 0

Score pages 9 and 10. Correct mistakes.



Los Angeles, U.S.A.+ New York City, U.S.A. 3,957 kilometers

New York City, U.S.A + Madrid, SPain 6.054 kilometers

Madrid, Spa Rome, Italy 1,345 kilometers

Rome, Italy Bangkok, Thailand 8,837 kilometers

Bangkok, Thailand-+ Sydney, Australia 7,525 kilometers

(Round each distance above to the nearest multiple of 10, 100, and 1,000.
100

4,000

1,000

4,000

(Us" the distance chart at
sentences.

the top of the page to solve these problems. Remember to write number

l 0

950( l )

(2)

(3 )

(4)

(s)

Los Angeles - New York

New York - Madrid

Madrid - Rome

Rome - Bangkok

Bangkok - Sydney

(6)
What is the distance between Los Angeles and Madrid if

a stop is made in New York City?

(7) How much farther is the distance between Rome and

Bangkok than the distance between Madrid and Rome?

( 8 )
Underline the shorter trip. On the blank, write how much

shorter.

a. Rome to Bangkok to Sydney

b. Los Angeles to New York City to Madrid to Rome

c.

t tAirplone: @ 20O4 Jupiterlmoge Corporotion



(Write the value for the 7 in each of these numbers.

(r)  47r,3r3,462 (3) 2r,472,000

(4) s, l4g, l73(2) 37,sro,o4l

(Write the numbers in activities (1) and (2) as number words.

(s)

(6)

(Write the number in activity (3) in expanded notation.

(7)

(Round these numbers to the

1,000
(8) 23,4sg

(e) 732

( lo) g,621

(eaa.
(17)

3 6 1 , 8 2 2
+ 6 7 9 , 2 4 8

nearest multiple

(1r)  8J73

(12) g0g

(r3) 25,6g1

indicated.

10

( l8 )
4 7 , 5 6 0

+ 8 5 , 1 4 5

(Subtract.

( l 9 )
6 5 2 , 4 3 7

- 2 5 5 , 6 0 9

(14) rs,46l

(1s) 745

(16)  4,g72

100

(20)
9 r , 5 3 9

- 4 4 , 4 7 0

(nead and fill in the blanks.

{21)

\

Score pages 1l and 1.2. I I Correct mistakes. Rescore. tr
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(oivide.

(1 )  
90

(ni"iae. Be sure to keep your columns straight.

8 3RZ Round 78 up to the nearest(s) T{m\_ffi _?
3i l r - 6 4 + 8 = E

T h i n k  l + 8 0 = ?
2 4 + 8 = 3

(7) 
72 (8)  

87

t2) 40)6 o o (3) 20)z 8T

When our divisor is not a multiple of 10, we round the divisor up
or down to the nearest multiple of 10; then we divide just as we did
in the activities above.

(4! 5o

(14)  43

2 8R,2 Round 32 down to the(6) 3218 s I \_ilili't 10.

33ls- E + 3 = 2
T h i n k  + 3 0 = ?

2 5 + 3 = 8

(e) fils z 4 (ro) 3612,0 8 2

( 1 1 )  
6 0

(12)  
58 (13) 68lr,6 4 22 , 5 2 0 4 , 0 4 2

Score this page. tr | Correct mistakes. Rescore. tr

t 3



Sometimes finding the correct number to use for the quotient takes
good detective work. The first number you try may be too large, so you
will need to track down the next smaller number. A good detective will
enjoy the challenge of tracking down the correct quotient.

(nitt in the answers as you read.

(liuide.-tf the number you track down is too large, try the next smaller number. Be sure to write your
numbers neatly and to keep your columns straight.

(4) {5 ) ( 6 1
2 4 ) 8  3  7

l ' 7 \  I a r

3 2 ) 8 9 6  4 L ) 9 8 2

(Underline the Scripture reference that shows we are to be cooperative and live and work with others
rn unlty.

le't Psalm 25:6

5 Round 33 to 30.
3 3  + - t S Z + 3 0 = ?

4 Let's try 4.

33 (1) We can subtract
from157.

2 5 +"- Since the difference is less

1 5 = 3 = 5

The 5 is not correct because
we cannot subtract 165 from
157 .

than the divisor (25 < 33),
we can brine down the nextwe can Dnng oown tn(
number and continue.

4 7B12 g Let's try 7.
(3) We can subtract

We have no more numbers
to bring down. Remember to
write the remainder as part
of the quotient.

2 6 4 F cause we cannot subtract

t 4

Matthew 5:16 I Corinthians 1:10



(Solrre these problems. Remember to write number sentences.

(1i Last week, Ace and his family read 18 verses from the Bible

after breakfast each day and 24 verses after dinner. By the end

of the week, how many verses had they read?

(2) 
If Ace memorizes a different Bible verse every 3 days, how

many verses will he memorize in 27 days? ffiffi
(3) 

Sandy wants to memorizethe 1Oth chapter of the Gospel of

John. How many verses a week will she need to memorize to

have the whole chapter memorized in 6 weeks?

(Hint: You can do this yourself-use your Bible!)

(4) How many days are in 52 weeks?

(5) 
How many years was it from 1492, when Columbus

discovered the Americas, to 1776, when the Declaration of

Independence was signed in the United States?

(6)
Last summet the Thriftmores drove 686 kilometers to help

on a ranch. If they drove at an average speed of 98 kilometers

per hour and stopped for a total of 2 hours to eat and get

gasoline, how long did it take to travel to the ranch?

(nead and fill in the blanks.

Score pages 14 and 15. [ | 
Correct mistakes. Rescore. I
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(nead to your supervisor.

ivide. If the number you track down is too small, just erase and try the next larger number.

(4) 2sT7 z s

( Uvide. Remember to round each divisor to the nearest multiple of 10. If the number you try in the
quotient does not work, try the next larger or smaller number. Be sure to keep your columns
straight.

(s )  33)6  1  1 (6 )  
66

(7) 2214 2 2 tB)  87

Sometimes the number you try in the quotient may be too small,
and you will need to backtrack and find the next larger number.

Round 27 up to 30.
2 1 8 + 3 0 = ?

2 l = 3 = 7

=o=Jo
The 7 is not correct because the
difference cannot be equal to
or greater than the divisor.

Let's try 8.
8 1 R 2

2712J 8 s
2 1 6Since the difference is less

than the divisor (2 < 27),
we can bring down the next

2 9
2 7

2number and continue.

27

(1)  481r2 4 s (2) 3612J |  6 (3) 6716,v2 o

2 , 8 4 9 4 , 0 0 5

Score this page. 
I Correct mistakes. Rescore.

Please be sure student understands long division using
2-digit divisors.| 6 Supenrisor initial



GHTGIIUP
(Use the number 875,091,324 to complete the following activities.

(1) 
Which digit is in the millions'place? In the thousands'place?

(2, Write the number in words.

(3) 
Write the number in expanded notation.

(4) What is the value of the green digit?

(s) Write the number that is 100,000,000 less.

(6) Write the number that is 100.000 more.

(aaa.

( 7 )  
5 4 3 , r 5 7  

( 8 )  g r , 6 3 5
+ 2 8 0 , 3 5 3  + 1 6 , 4 0 7

(muttipty with 10, 100, or 1,000.

(11) r,ooo x r,2oo =

(r2\ 42,753 x l.o =

(13) 100 x 13 =

(nnuttipty.

( 1 7 )  g 0 0  ( 1 8 )  
9 , 5 2 3

x 6 2 7 x  3 4 2

( Subtract.

( e )  
8 3 4 , r 7 g  

( l o )  
3 0 , g 8 4

- 5 3 6 , 3 8 0  - 1 8 , 0 5 6

(14) 6,700 x ro =

( ls) 2oo x l ,ooo =

1t6) 3,650 x loo =

( 1 e )  5 0 6  Q o )  7 , 4  1 2

x 7 l O x  2 0 5

l 7Please continue on the next page



(Round each given number to the nearest multiple of 10, 100, and 1,000.

1 0 r00 I,000
(2r) 

39,562

(22) 7,gg7

(23) 
674

(2A) 4z,r3g

ivide.

(2s) 36h3 |  2 (26) 
44

(27) 8311,9 9 8 (28) 2814 6 2

ite number sentences and solve these problems.

(29) 
Three hundred thirry players signed up for basketball camp.

If the camp director makes 22 equal teams, how many players
will be on each team?

(30) 
Last yeaq, Racer could read,lTlwords per minute. This year,

he can read2l2 words per minute. How many more words can
Racer read in 5 minutes?

(nead and fill in the blanks.

( 3 1 )

t 8

Score pages 17 and 18. I I Correct mistakes. Rescore. I



ite C for commutative property of addition. Write A for associative property of addition.

(1) 
- Changing the way in which addends are grouped will not change the sum.

(2) The addends on both sides of the number sentence are in exactlv the same order, but the
parentheses are moved to group the addends differently.

Changing the order of the addends will not change the sum.

( 6 )  
1 3 + 7 = 2 0 ; 7 + 1 3 = 2 0

( ' )_72 
+ (56+ 35)  = (72 + 56)  + 35

(W.it. the correct number on the blank in each number sentence. Then underline the property of
multiplication being demonstrated.

( 8 )  
4 r (  x t o ) = ( 4 x 7 ) x 1 o

( 9 )  3 x 6 = 6 x

(10)

( 1 1 ) ( 8 x 3 ) x  = 2 x ( 8 x 3 )

x ( 6 0 x 4 ) = ( 6 0 x 4 ) x 5 2

(3 )

(4)

(s)
(96 + 87)  + 13 = 96 + (87 + 13)

(18  +  29 )  +  31  =  31  +  (18  +  29 )

commutative

commutative

commutative

commutative

commutative

associative

associative

associative

associative

associative

The commutative property also
works for multiplication.

( 4 x 3 ) x 5 = 5 x ( 4 x 3 )
V V
1 2  x 5 = 5 x  1 2

2 x 3 = 6 3 x 2 = 6

6 0 = 6 0 Changing the order
of the factors does NOT
change the product.

The associative property also
works for multiplication.

1 5  x 2 = 5 x  6

3 0 = 3 0

Changing the way
in which factors are
grcuped does NOT
change the product.

( f 2 )  ( 1 2 x 1 5 ) x L 6 = 1 2 x ( x  16 )

t 9



the sum will be the same. The O allows the other addend to keep its identity. This is called

When zero is added to any addend, the sum and that
addend are the same.

There are different ways to show the identity prope of addition.

7  + O = 7

O + 7 = 7

(13 + 6) + 0 = 19 Notice: One of the addends must

1 2 + ( 4 - 4 ) = 1 2 be 0 or equal to 0.

(Write the correct number in each blank. Use the identity property of addition.

(4)  ( l l  +  8)  + o =

(s) (80 + 3o) +

(7) 52 + (r9 -  19) =
( l )  

9 + = 9

=  1 1 0{ 2 )  6 8 + o - -

( 3 )  0 + 5 = ( 6 )  
o + ( 6 + ) = 1 0

( 8 )  2 4 + ( 6 - - ) = 2 4

+ ( 2 - 2 ) = 1 2(e)

(Write the correct number in each blank. Use the identity property of multiplication.

= 9 ( 1 3 )  ( l l x 8 ) x l =

(14) (8 x 3) x

(16)  52  x  ( r9  -  r8 )  =
( lo)  9  x

( l l )  
6 g x 1 =

(r2) ( 1 s )  
t x ( 2 x

= 2 4 ( 1 7 )

(18)

2 4 x ( 6 -  ) = 2 4

In multiplication, I is the identity element. If one of two factors is l, the other factor
and the product will be the same. The I allows the other factor to keep its identity. This is
called the identity property of multiplication.

Vhen one is muftiplied with any Jactof the product
and that factor are the same.

Here are different ways to show the identity property of multiplication.

7 x l = 7

l x 7  = 7

(3 x 4) x | = 12 Notice: One of the factors must be I

15 x (18 - 17) = 15 or equal to 1'

20

x 5 = 5 ) = 1 2 x ( 7 - 6 ) = 1 8

Score pages 19 and 20. I I Correct mistakes. Rescore. I



iil in the answers as You read.

Remember the key word to unlock each property'

{1} Co**utative property - Order (Changing the

of the addends or factors does not

change the answer.)

{2) A"ro.iative property - Grouping (Changing the

wav the addends or factors are

within the parentheses does not change the answer')

Identity property of addition -zero (one of the addends is

Identity property of multiplication - One (One of the factors is

. )

or equal to

(ninirf, writins the number sentences to show the commutative property'

( 7 )  
e 6 + 4 ) + 5  =

( 8 )  6 + 1 0  =

( - 5 )  
! 2 x 3  =

( 6 )  1 2 x ( 3 x 8 )  =

g the parentheses correctly in each number sentence to show the associative property'

( e )  2 7  + ( 5 2 +  t g ) =  2 7  + 5 2  +  1 8

( 1 0 )  1 6  + 9  +  3 o =  1 6  +  ( 9  +  3 o )

rects ign(+,x) in thec i rc le toshorvtheident i typroper ty .

( r 3 )  1 O 1 8 = 1 8

( r 4 )  t t O o = 8 7

( 1 . 5 )  o r  
O  @ - 4 ) = 4 s

( r e )  9  x  ( 9  x 2 )  =  ( 9  x 2 )  x 9

( 2 0 )  1 4 + o = 1 4

\ 2 1 )  5 5 + 5 = 5 + 5 5

( 2 2 )  ( 1 7 + 3 )  + o = 2 0

( 1 f )  ( 1 1  x  1 5 )  x 2 2  =  t r  x  1 5  x 2 2

( 1 2 )  5 o x  7 5  x  t 5  = 5 o x ( 7 5  x  1 5 )

( 1 6 )  ( 3 x 9 ) O r = z z

(17) ut O 
(36 - 3s) = 61

(18)  o  
O 

r r4=rr4

( 2 3 J  7 + ( 3 + 4 ) = ( 7 + 3 ) + 4

{24)  15 x  (10 -  9)  = t5

(25) (40 - 40) + 5o = 5o

( 2 6 J  ( 3 x 2 5 )  x t = 7 5

:ntitY.

Ifstudent does not have a good underetanding ofthese

o-**i"", ask him to read the information in the boxes

oo p.g"" 19,20, and 21 aloud to You'

Correct mistakes.Score this page.

Supenrisor inidal 2 l



(Complete the number patterns.

{ t \\ "  9 , 1 2 ,  1 5 ,  ,  ,

(4)  on
_ ,  

J V t

(match to complete each factoring rule.

(s)

(6)

(7)

(8 )

(e)

( r 0 )

, 2 7 ,  - ,  - , 3 6

,  8 1  ,  - ,  - ,  1 0 8

2 0 ,  - ,  3 0 ,  - - ,  - ,  - ,  5 0

, 6 0 ,  , , 3 0 , - , 1 0

(A) of any number whose digits add up to 3 or a multiple of 3.

(B) of a number if both 2 and 3 are also factors.

(C) of any even number.

(D) of any number that ends with 0 or 5.

(E) of any number whose digits add up to 9 or a multiple of 9.

(F) of any number that ends with 0.

2 is a factor

5 is a factor

10 is a factor

9 is a factor

6 is a factor

3 is a factor

(-Underline the number that answers both descriptions.
( | I ) A number that is even and has both 5 and l0 as factors.

32 15 45 20

(12) A number that is a multiple of 3 and has both 2 and,6 as factors.

9 1 5 1 8 2 r

(13) 
A number that is a multiple of 3 and has 9 as a factor.

27 2t  30 42

( 14) A prime number that is also a factor of 28.

( l5) A composite number that is also a factor of 34.

Remember: A composite number
is a number that has more than two
factors.

Remember: A prime number is a
number that has exactfy two factors,
the number I and the number itseff.

22

2 3 4 1 7 1



osite number(s) and underlin
least to greatest.

e the prime number(s). Then write all the factors of each

(.1) 54

(s) p

(6) 96

( 1 )  1 8

(2) 49

(3)  57

the answers as You read'

Common factors are factors that are the same for 2 or more numbers'

(7) 
The common factors of 8 and 2o are

{8) ths Greatest Common Factor is the largest common factor

for2ormorenumbers.TheGreatestCommonFactor(GcF)

of 8 and 20 is

schar t tohelpyouf indtheGreatestCommonFactor(GcF)foreachnumberpai r .

F ors Common Factors GCF
Number

10 1 , 2 , 5 ,  l 0
1 ,  5 J

25 1 , 5 , 2 5

4

t2
24
36

9

15

6

8

7

l4

(e)

( l o )

( l l )

(  1 2 )

(  r3 )

(14 )

Correct mistakes.Score pages 22 and23.



underline two equivalent fractions for the shaded part of each shape.
( l ) (2)

1 2  3  6 \ 1
E  n V ) z z  1 L  z

6 3 4 8
z L 3 9.
3  3  6 9

! i _t -L
8 4 4 2

1 2  l _ 1  ?
2 4 2 4 3

1  4  ! . L
2  t 2  6  3

In working with fractions, it is often necessary to use

the simplest form of the fractions. In activity (l), we have
underlined the fractio.r, ! arrd I .

1 6 4
Since the fractions are equivalent (both fractions are the same

size and have the same value), we would choose I as the simpler
form. 

4

Correct mistakes.
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For anv fraction, it is easy to find an equivalent fraction in simplest form'

List all the factors of both the numerator and the denominator.

Divide both the numerator and denominator by the Greatest

1 .

2 .

3 .

!
6

4 + 2  _  2
6 + 2  3

The fraction is in simplest form. In other words, the fraction f
3

reduced to lowest terms is the equivalent fraction . The terms
5 ^

simplest form and reduced to lowest terms are two ways ot

expressing the same thing. In this course, we will usually ask you to

find an equivalent fraction in simplest form'

I  t  1 5

25

( 2 j  
6

24

( 3 )  g

1,2

,,..+.! 
1g

36

(nead and f i l I  in the bXzLnks.

1 5 + 5  - 3  ;  ( 5 )  4

2 5 + 5  5  I  2 0

( t l l  
Z g

42

( 7 i  2

1 0

i
I

|  , u t
l Q  =  :  i ' | ) t  

1 6t 9 ;

3 6 +  2 4

1.6 +
2 4 +

i 9 j

Psalm | 33: I

Correct mistakes.Score this page.
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My friends are kind! They brought
paint and brushes and helped me paint
Sport's doghouse after the ball game.
That is what cooperation means . . .
to work and live with others in unitv.

Finding the Greatest common Factor and writing fractions in
simplest form are concepts we must master because we will use
these concepts nearly every time we work with fractions. Let's
shed some light on how to find the Greatest common Factor quickly
and easily without listing all the factors.

(Fill in the answers as you

Let's find t CF of { . Eirst, see if the numerator is a factor of
the denomin 

8

( , ) [_ l  x2=8
Since the numeJtor is a factor of the denominatot you

know the numerator is the GCF. Divide the numerator and the
denominator by the GCF.

( ) \ l l' - ' 4  |  |  1
d  *  = ,

(find an equivalent fraction in simplest form by using the numerator as the GCF.

(7\
4- :
t 6 '

( 3 )
5 5 r- : - = _
2 0 5 4

(.1)
4- :
2 0 '

(6)  
14 -
2 8 '

(e)
o- :

2 4 '

t 2
3 6 '

{ 1i}}

Score this page. Corect mistakes.
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ill

Sometimes the numerator is not a factor of the denominatof,, as

in the fraction 9. ro find the GCF of the fractiorr 9, firrd th"
8 8

difference between the denominator and the numerator.

( r )  8 _ 6 = I
Since the difference is a factor of both the numerator and the

denominato4 you have found the GCF.

( 3 )  8  4 2
t 2 ' 4  3

(s)

(6) 
42 .
4 9 '

l 2
1 8 '

(7) rc
- !

2 4 '

(8) 
24- :
3 6 '

(4) 20
2 4 '

Linator and the numerator.

( g )  r  
t z

Zs-'*
(Hint: Use the numerator.)
(10 )  1  At +

le*
(Hint: Use the difference.)
( i l )

o

lE*
ead and fill in the blanks.

(12) ro .
1 5 '

(13) g
- :
t 2 '

(14)  
8

2 4 '

(rs) 
JE-
3 9 '

(16) 
15- :
2 0 '

{r7, 2g- :
3 2 '

( r8)  L _

27
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tiples of these numbers.

{ l )- a h
v t  v t  ,  t  _ ,  _ ,  _  ,  t

T ) \
\ & , ,  1  1 A

I r l a ,  ,  ,  ,  ,  , _ ,

( 3 )  4 , 8 ,

(4) 6, rz,

(s)  8,  16, t ,

(ritt in the answers as you read.

( e )  g .
2 4 '

(10)
z5- :
4 0 '

( l  l )
I- :
t4

(9 and 24 are
multiples of 3)

(25 and 40 are
multiples of 5)

(4 and 14 are
multiples of 2)

(r2) (14 and 35 are
multiples of 7)

(18 and 42 are
multiples of 6)

(8 and 20 are
multiples of 4)

t 4
Jf,

1 8 .
42

8- :
2 0 '

( 1 3 )

Sometimes the GCF is not the numerator, and it is not the
difference between the numerator and the denominator. We will
need to use our rules for finding factors to find multiples of the
numerator and denominator.

1 ' )
In the fraction f , both 12 and20 are even numbers, so you

ZU
know 2 is a facto4 but 2 is not the largest factor. Quickly try all the

multiples of 2 to find the GCF.

Is 4 a factor of both 12 and,20? 6)

Are 6,8, 10, or l2factors of both 12 and,z}? Q)

So I will use 4 as my GCF. $) tZ 3
zo=l---- l=5

t l

28

(14)

Score this page. f I Correct mistakes. I I Rescore.



inator and the numerator.
If that does not work, try finding

( l ) 5  
5  |

16 '=B=t
(Hint: Use the numerator.)

(2) 
24
32
(Hint: Use the difference.)

(3) ro
l 4
(Hint: Use multiples.)

(4)
20
35
(Hint Use multiples.)

6
1 5
(Hint: Use multiples.)

1 0
40
(Hint Use the numerator.)

(11)  n
t6

(rz) 15
40

(E) rc
20

( 1 3 )  
1 5 _ T H I N K : 1 5 + 3 = 5
1 8  T H I N K : 1 8 + 3 = 6

Write: L
6

( l4 )
o

l 4

( ls )  g

1 8

(16) 14 _
2 l

(17) 24 _
27

(s)

(6)

(7) 
6

36

(e) 
3
2 l

(r0) 
2g
42

ines.

(18) 
t0
1 5

(19) .
J

t2

(20) .o
9

(2rl 4 _
1 0

(22) 12 _
1 5

(23) 
8 _
t 6

(24) 
36
48

(25) I
I

2 l

Did you follow the
three guidefines?

Scorethispage. tr Correct mistakes. I Rescore. I
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Sometimes when I find an equivalent fraction, it is not in simplest form.

(niU in the answers as you read.

(Circle the fractions that are in simplest form.

(W.it" commutative, associative, or identity in the blank to indicate which property is being describecl
or demonstrated.

(5) 
Parentheses are used to group the addends differently.

{6) one of the addends is 0.

(7) We can change the order of the addends without changing the sum.

(8} 
The identity element is 1.

te) The factors can be grouped differently without changing the product.

t i o i  l + ( 5 + 8 ) = ( 1 + 5 ) + 8

i t l )  f t x 4 5 = 4 5 x 1 6

{ ! 2 )  4 + e + 2 ) = ( 9 + 2 ) + 4

{13 }  17  x  (15  -  14 )  =  17

{1 '+ ' r  35 + (1 x o) = 35

( 4 ) L r o 2 1 1 ! 3 0

4 1 5 2 7 2 9 3 1

( 3 ) l -  
Z  I  4  s  6

3 4 5 1 2 1 6 1 8

You chose a common factor that is not the GCF. Simply follow our
guidelines and reduce the fraction again.

i ? ) 1 0 . 2 _
r 8 '  2 -T

We can know for sure that a fraction is in simplest form when the
only common factor of both the numerator and denominator is l.

Score this page. I I Correct mistakes. Rescore. tr
ff needed before the Checkup, student should use Math Builder@
and/or flashcards for daily drill. In Math Builder, select from the
main menu the type of activity needed for extr-a practice.30 Supervisor initial



GHEGI(UP
ite the correct term from the box on each blank.

(l) 
The part of a fraction that tells the total number of equal parts is the

(2) Fractions are

(3) A/An number has only two factors, the number 1 and the number itself.

number has more than two factors.

Factors that are the same for two or more numbers are factors.

(nitt in the blanks with the correct answer.

The letters GCF stand for

(4)

(s)

if the fractions are the same size or have the same value.

Changing the of the factors does not change the product according to the
commutative property of multiplication.

which property is being demonstrated by the number sentence.

( 1 2 )  ( 3  
" ) x 9 = 3 x ( 8 x 9 )  ) 1 1 6 )  ( 6 x 7 ) x 9 =  x ( 6 x 7 )

(_) (  r?) x ( 4 - 3 ) = 1 0

A/An

(6)

(7)

(8 )

(e)

( r0 )

( r r )

When the only common factor of both
we know a fraction is in simplest form.

Changing the way in which factors are
to the associative property of multiplication.

The identity element in addition is

The identity element in multiplication is

the numerator and denominator is

will not change the product according

) + 1 , 2 = 1 , 2

( 1 3 )  
1 4 + 7  = 7  +

(14) (20 + 5) +

(1s )  
40  x = 4 0

trE) (50 _

r le)  (50 _

Please continue on the next page.

) x 1 2 = 1 2

3 l



(Complete these activities.

{2e' Circle the numbers that are multiples of 7.

(2r) Circle the numbers that are multiples of 9.

122| Write only the common factors of 20 and,24.

(2s) Write onlv the GCF of 18 and 30.

(24) g 
_

20

(2s) 12 _
2 l

(26) 14 _
t 6

(Write each,fra,ction in simplest form. Do all the steps mentally and
wnte only the answer.

21 25 28 3s 42 49 55 63

24 27 39 45 54 63 72 81

2 4 _
28

(31 )  18  _
24

(32) 9 _
l 8

{27) 4 _
36

(30)

(28) 20 _
25

(2e) 10 _
30

(Circle two equivalent fractions for the shaded part of each shape.

(nead and fill in the blanks.

(3s) (34)
I L
6 2

1 t
3 3

9 . 2
8 8

3 L
4 4

Remember:

lst-  Trythe
numerator.

2nd - Try the
difference.

3rd - Try the rules for
finding factors.

32
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(vtuttipt,v.

( 1 )  7 3 1
x 3 4 2

(4)(3)(2\
5 , 2 9 0

x  5 1 4
2 , 6 2 4

x  8 0 4
7 , 3 0 4

x  3 6

(oiviae.

(s)
5 6

(Circle_ the Bible passage if the people
and worked in unity. You may need

(15) Ab."-'s and Lot's herdsmen
Genesis 13:5-7

(15) 
Mary and Martha

Luke 10:38-42

had a cooperative spirit and lived
to circle more than one passage.

(17) The disciples of Jesus
Acts 1:12-14

(18) 
Moses, Aaron, and Hur

Exodus 17:9-12

(8)(6) (7)
26)4 7 0

(Ans*e. these questions with a fraction; then write the fraction in simplest form.

(9) 
Eight of the 20 students in the class finished their goals by noon.

What fraction of the class finished their goals by noon?
(10) Booker was in school for 6 hours. What fraction of the dav was

Booker in school?
(l l) Booker finished his English goals in 40 minutes. What fraction of

an hour did Booker spend on his English goals?
(r2) What fraction of the months beein with the letter M?

(13) 
What fraction of the letters in Alaska are As?

{r4) It rained 18 days in the month of September. What fraction
of the month did it rain?

8 = 2
2 0 5

33
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Fractions that have the same denominator are called ctions.
Remembe4, when we add or subtract I ctions, we add or subtract
only the numerators. The denominator stays the same. Always write
the answer in simplest form.

LAdd these like fractions and write your answers in simplest form.

u ) 4 6
- + E =

1 5  1 5

(2) 
3 3
s * 8

(6)(4) 13
20
2+ -
20

(s) 7
I 6
5+ -
I 6

( e )  7 - 3 =
8 8

(r2) ( 1 3 )

1 0  1 0

(14 )

(3 ) 2 7- + - =
1 2  1 2

(8 )

(Subtract these like fractions and write your answers in simplest form.

( 7 )  
1 1
24
1 l+ -
24

4
t 4
I

l 4

1 3
2 I

_ 6
2 l

1 3
t 4
7
l4

29
30

_ 5
30

( 1 1 )

1 1
1 8
I

1 8

1 8
24

_ 1 0
24

(  1s)

z _ t _
9 9

(101t 2
1 8

_ 8
1 8

(nitt in the blanks.

(r7)

Score pages 33 and 34. I I Correct mistakes. Rescore. tr
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When we write mixed numbers in simplest form, the whole
number stays the same. Just reduce the fraction to an
equivalent fraction in simplest form.

{ 1 !

{ ? )  4 5 2 =
24

{ 2 }  1 8 f =
6

2  6  = 2 !
1 0 5

.. 21,
J O -  =

24

( 1 )

(5 )(4) {5) t0L =
2 l

{  1 0 )

( 1 4 i  8 #

- 4  2
2 l

- 1 5
J -  =

35

( l l ,  ? 2 4' -  
1 5

* q 7 L
1 5

{ l s )  r t *

- ) \  I- . -  
10

22]4 =
22

dd. Write your answers in simplest form.

( s )  t r *

*  q 2
l 6

_ 4
1 -- 9

. 2+ o -
9

(Subtract. Write your answers in simplest form.

( r z t  t ,  X
-  1 4 y

20

u 6 )  9 7  _ 2 4
9 9

{ I3 )  ,U#

-  1 s !
24

{ 1 7 }  , 1 . 1  _  5o - _ J -
t 2  t2

i l 8 )  . . 1 5  _ 3
l J -  _  l -  =

1 6  t 6

When we add or subtract mixed numbers, we follow these steps:

1. Add or subtract the fractions.

2. Add or subtract the whole
numbers.

or,!

- tri-

n! =ruf,zS 
g = 75? 3. Always write the answer in- 
12 3 simplest form.

3 5



Grandfather and Grandmother
Resource are an example of what our

They dwell (live) together
in unity because they love
God . . . and they love each
other!

(Solrr" these problems. Write your answers in simplest form. Remember to write number sentences for
each problem.

(l) An animal control officer responded to a call ZO + kilometers

from the animal shelter and to another call l l I ,l?o*"r".,
1 0

from the first call. How many kilometers did the officer travel to

answer these calls?

food. How many bags of dog food were left at the end

of the week?

(3) Cats at the animal shelter used to spend about t5 + days at- I L

the shelter before being adopted. Because of an increase in

public awareness, they now spend about g * aay. before
t2

adoption. How much has shelter time been reduced?

Score pages 35 and 36. I I Correct mistakes. I I Rescore.
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When the numerator and the denominator are the sarne, the fraction equals 1.

2  = r  9 = l
2 6

rite the mrmerator or denominator that would make a fraction equal to 1.

( l ) (4\  t  (5)
T

l 7

If the numerator is less than
the denominator, the fraction is
less than |. A fraction that is less
than I is a proper fraction. !

2
proper

z
3

proper

If the numerator is greater than
the denominato4 the fraction is more
than 1. A fraction that is greater than
I is an improper fraction. Fractions

that to 1, such ur 9 , u."
also fractions. 

6

5=
a
5

rmproper

(6)

T,7

tzj r,2 (3) z

(_O" the first blank, wri if the fraction
second blank. write the lraction is
the fraction is sreater than l.

(7) 
L p

(8) 
2

(f'oilo* the instructions and color the shapes. Below the shape(s),
vou colored.

(15) 
Show a proper fraction. 

(16) 
Show an improper
fraction equal to 1.

rs proper and wnte
less than 1, write =

I if the fraction is improper. On the
if the fraction is equal to 1., or write > if

(e) 
I
5

(10) 
z
5

( 1 t )

(r2)

20
20

99
100

t 7
1 8

71,
8 1

(  13)

(14 )

write a fraction for the part(s)

tl7) Show an improper fraction.

Score this page. I Cortect mistakes. Rescore. I
For activities (15H17), please check to see that student
has followed the instrustione in coloring the shapes and
writing the fractions.Superuisor initial 3 7



(nitt in the answers as you read.

We usually do not leave fractions written as improper fractions. We change improper
fractions to whole numbers or mixed numbers.

ink: { or 1 whole shape is colored plus
4

of another shape is colored.

Think: 4 whole shapes are colored.

We can also change improper fractions to whole numbers or mixed

numbers by dividing. Remember; the division line in a fraction means

"divided by." The improper fraction ! ,unbe read "17 divided by 5."
5

3F.2 = 3?
We can think: 5m 5 o, 17 + 5 = 3? 6) 17 -

1 5  
- " " - " 5  

5

NOTE: To change improper fractions to whole or mixed numbers, you will usually do the
division mentally. Howeve4 if you are working with large numbers, you may need
to write out the division problem.

(Change each improper fraction to a whole number or a mixed number.

( 6 )  2 5  _ 4- = J -

7 7

(7)  t4  _
5

63
9

43
1 0

2 9 _
8

(8)  t6
4

(e) 35
6

( r 0 )  3 7  _
I 2

/  r  1 \
\ t 4 )

(  1 3 )( t t )

(nitt in the blanks.

38



Sometimes when we change improper fractions to whole or
mixed numbers, the fraction is not in simplest form. We must
reduce the fraction to an equivalent fraction in simplest form.

(Change each improper fraction to a whole or mixed number in simplest form.

dd. Change each improper fraction to a whole or mixed number

( l )  3 3  _
9

(2)  14 _
8

(3 )  35  _
1 0

t, l) 32 _
t 2

(s)  92 _
1 1

(6) 1oo _
l 0

(7 )  10  _
6

(8) g- -
4

(e )  18  _
1 0

in simplest form.

(  l 3 )(  r 0 )  1 5
t 6

, 9
I 6

U l )  5
8
5

8

( f 2 )  2 0
24

, 1 3
24

!
7

?
-I
I

4 = t 8 = r I
1 6 t 6 2

( 1 4 )  1 0  1 1
t 2  t 2

( r . 5 )  g  D-  +  - =
t 4  1 4

ite proper or improper on the blank.

(,|6) 
A fraction whose numerator is greater than the denominator is

(17) 
A fraction whose numerator and denominator are the same is

( 18) A fraction whose numerator is less than the denominator is

39
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What if the improper fraction is part of a mixed numbeq, such as I ]e' 4

We need to change the improper fraction tll to a whole or mixed' 4 '

(Change each of these mixed numbers
numbers with proper foactions.

( r )  
r c Z = l B + 2 1  = z o L

J

1019 =
7

- ^  t 9
l 2

with improper fractions to whole numbers or to mixed

(4)

, 1 9
6

-33
1 0

g]4=
4

(2)

( 3 )

(s)

(6)

( 7 )
l 2

(8)
27

{e)
75

. 1 6
7

. 1 8o -
9

"  
1 5
1 1

(  10)

( i l )

( t 2 )

1.4 L
8

1 7 _
8

t 3 _
3

! _
5

(  tn Lhe problems above, the answ\ _ ;
need to wrrte vour answers ln

( r 3 )  , 2 0  . 4  - l
+ - = t t - = t t -

8 8 2

{  14)  -  1 ,2
J - =

1 0

ers were alreadv in simplest
simplest form.

( l s )  , q
A L J{ - -

1 5

{ 1 6 )  ̂  1 4
v - -

8

torm In the problems

( r 7 )  .  1 g
I  - =

6

( f  t t )  a \
1 0 - -

9

below you r.r,ill

Now do the addition step mentally and write just the answer.
_ _ 1 5  _ - 3
35=  =  38 -

4 4

Score this page. tr | Correct mistakes. Rescore.

Student must master the concepts on pages 38-40 before
he continues. Ifhe is having difficulty, ask him to read the
information from those pages aloud to you.40 Supervisor initial



(eaa. Write your answers in simplest form.

{3) 4s q
7

+ 3 ?
7

t
6

T
6

(r) )z z
9

.  t t ;

(2) p

+ 3 3

40E  =4 r9  =4 tZ

(4) t 4  l l
t 2

+ n l J
t2

7 120
2 l

* r s *

(5)  t0 l3
15

+ 1 2
1 5

(s)

(N..*,1"* carefully putit all together. (?)
Add. Some answers have mixed
numbers with improper fractions.
Some have mixed numbers with
proper fractions. Be sure to write all
answers in simplest form.

3 z
8

. 3  
*

(8) 4 8
t4

+  9 1 0
t4

(e )  11
t5

+ 3 7 !
1 5

(ro) 5 9
13

* z !
1 3

(Subtract. Write your answers in simplest form.

( r r )  8 l l
2 l

- 4- 1 -
" 2 1

( r3)  16J!
18

- nJg
1 8

(r4) g L
l0

_ 6  5
1 0

4 l



ite number sentences and solve these problems. Write your answers in simplest form.

(I) (a) one animal control officer traveled 19 + kilometers
I U

to respond to a call about a stray dog in a mobile home

park. If he returned to the shelter by the same route,

how many kilometers did he travel?

(b) Another animal control officer traveled
6

1lfr kilometers to help a little boy get his cat out of

a tree. On the way back, the officer checked the

neighborhood for stray animals. His return trip was
6

16; kilometers. How many kilometers shorter was
I U

his round trip than the first officer's round trip?

(2) 
On Saturday, Racer helped at the animal shelter. He

' 5  -  , r  r  , ^ 1 0 ,spent 3fr hours exercising the dogs andzfihours

cleaning. How much time did Racer spend at the

shelter?

(3) 
The animal control supervisor worked st] hours

1 +
last week. If he normally works about 447 hours, how

many extra hours did he work Iast week?

(r i t t  in  the b lanks.

Score pages 4l and,42. I I I Correct mistakes.
|  

*escore.
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8
A bar graph is a way of showing y

information so comparison can be 5 7

made quickly. 
; 6

b s
These students were preparing for # 4t r ' t

a piano recital. The bar graph shows E
how many hours per day the students 

Z 3

practiced. 2

I

0

l0 ce time before recital

9

+ " + 2 r +
Hours practiced per day

hour(s) per day.

hour(s) per day.

(Study the bar graph and complete these activities.
/ t \\r,' How many students practiced 2 hours a dav? 4

(2) 
The greatest number of students practiced

(3) 
The fewest number of students practiced

(4) How many more students practiced j fror'r. than tthours?

(s) How many fewer students practiced Z j fro,r.s than rj hours?

(6) As you move across the graph, each bar on the graph represents

more time than the bar on its left.

(7) 
If each student added his practice time for 6 days, how many students practiced atotal of 12
hours? How many students practiced a total of 3 hours?

(8) 
what was the total number of students preparing for the recital?

(Solve these problems.

(9) The recital was on Saturday afternoon. It began at 1:30 and lasted Z j fro,r.s. What time did the
recital end?

(10) 
The reception after the recital lasted until 5:30. How long was the reception?

(11) 
After the reception, Christi and her mother spent 40 minutes helping with the cleanup and
another 20 minutes driving home. what time did they arrive home?
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Are you ready to try your

hand at making a bar graph?

This is going to be fun!

When J. Michael and his family returned

from the symphony, J. Michael made a bar

graph to show the number of people he had

seen playing instruments in each of the five

sections of the orchestra. He had counted

36 people in the upper strings section
(violins), 25 people in the I er strings

section (cellos, violas, and bass violins),

18 people in the woodwind section
(clarinets, flutes, oboes, and bassoons),

15 people in the brass section (trumpets,

French horns, tuba, and trombones),

and 3 people in the percussion section
(kettledrums, cymbals, and bells).

( nlnish labeling and filling in J. Michael's horizontal bar graph, starting with the smallest and ending
with the largest group. Then complete the activities below.

f i )

Symphony orchestra

Percussion

20

(2) 
To have 100 members in the orchestra,

Number of players

how many more people would need to join?

(3) 
The number of people in what three sections together equal the number of people in the upper

strings section?

t4) How many more people would need to be added to the brass section to equal the number of

people in the lower strings section?

o
t4

+J

0)
a

1 5t0

Score pages 43 and.44. I Correct mistakes. n Rescore. tr
ff needed before the Checkup, student should use Math
Builder@ and/or flashcards for daily drill. In Math Builder;
select "Fractions"; then select "Addition (or Subtraction)."4+ Superuisor initial



GilreltuP
(W.ite a fraction for each of the following; then write the fraction in simplest form.

(1) 
Miriam had 6 pages to complete for her English goal. She was only able to complete 4 of those

pages. What fraction of her goal did she complete? What fraction of her soal

does she have for homework?

(21 
First, Pudge filled 

* 
of a glass with water. Then he added 

f, "f 
u glass of water to it. what

fraction of the glass is full?

(3) 
There were 30 members in the band. If 7 played trumpets, 2 played French horns, and 5 played

trombones, what fraction of the band played brass instruments? what

fraction of the band did not play brass instruments?

(4) 
t 

(s) 3 (6) 23 Q) 11 (8) 4
6  e  1 4 -  l t -  t

(Wite these fractions and mixed numbers in simplest form.
( e )  1 5  ( 1 0 )  ) 0  ( t  t )  ^  1 2  ( t 2 )  .  2 \7  =  8 f r =  3 f r =  4 i =

(Aaa or subtract. Write your answers in simplest form.

( r 3 )  
1 4  !

2 l

* r 8 4
2 l

(16) n +2 
(r7)  2s y (18) 7 !  ( re)  4t  !t 4  2 0  2 4  

- 1 8

( r4)  n I
8

- 6+ I -
8

i l s )  o I
t 2

- 8+ ) -
l 2

- t o * -24  L
20

- 4  |
24

-22 z
1 8

Please continue on the next page. 45



Before basketball season, the coaches asked

the boys to exercise each day for 5 days.

inish labeling and filling in this vertical bar
graph to show the total amount of time each
boy exercised. Then complete activities

through Friday.

* Booker exercised I hour each day

Monday and Tuesday, and 
I 

ho,r..u.h

day Wednesday through Friday.

Reginald exercised 
f, 

nor.r. each day I

Monday through Thursday and

I hour on Friday. 0

1
Racer exercised 

i 
hour each day

Monday through Wednesday and

I hour each day Thursday and Friday.

* J. Michael exercised I hour each day

Monday through Wednesday and
1
i hour each day Thursday and Friday.
z

(21) which boys exercised the same number of hours?

(22) Who exercised the most hours during the five days?

Exercise Program(20)

(!')
H -

F

+

,) ri
o q

A

fn
+

(23) If Reginald exercised j norr. on Saturday, his time would be equal to which boy's time?

(nitt in the blanks.

Score pages 45 and 46. tr | Correct mistakes. Rescore. I
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Let's get ready to take the Self Test. Be sure you:
1. Study the Checkups.
2. Ask your supervisor to initial here

Answer as many problems as you can witnout
looking back into your PACE.

My score

* StltilSI
(Complete these activities. (2 points each)

(1) 
Write the number that has a 5 in the hundred millions'place and in the ten thousands'place,
a 9 in the millions'place, an 8 in the hundred thousands'place and in the tens'place, and a 0 in
all other places.

(:2) 
Write the number 403,740,018 in number words.

write the number that is 10,000less than the number in activity (2).

write the number that is 10,000,000 more than the number in activity (2).

(Round these numbers to the nearest multiple of l0 and 1,000.

(s)

(4)

1 0 1,000 10 1,000

(12)

(7)

(8)

( l l )(10)

(s)

(6)

12,675

4,959

552

7,393

(oivide.

(e)
2 3

(uuttipty.

(13)

7 , 3 4 1
x  2 1 4

7 8 ) 3 / 3 5

(14 ) (1s) (16)
8 1 3

x 9 0 2
8 5 2

x 5 6 3
6 , 9 5 1

x  7 0 0

Please continue on the next page. 47



ite C for commutative, A for associative, or I for identity.

( 1 7 )

( 1 8 i

( l e )

(2r)

(22).

(23)

_ 3 5 + ( 5 + 6 ) = ( 5 + 6 ) + 3 5

4 8 x l = 4 8

- 6 x ( 0 + I ) = 6

- ( 1 5 - 1 5 ) + 3 = 3

_ ( 1 3 x 8 ) x 1 2 = 1 3 x ( 8 x 1 2 )

_ 5 x 7 = 3 5 i 7 x 5 = 3 5

{2o,  _  10  x  (3  x  2 )  =  ( to  x  3 )  x2 (24 )  
_7  +  ( i l  -  t l )  =7

(25) When one is multiplied with any factoq the product and that factor are the same.

(Circle the common factors of 12 and 18. Draw a box around the GCF.

(26)  r ,  z ,  3 ,  4 ,  5 ,  6 ,  7 ,  8 ,  g ,  10,  l l ,  12

(27) (28)

( Circle two equivalent fractions for the
colored part o[ this shape.

(2e) t3 (3o) t0
t 4  1 0

ircle the fractions that are in simplest form.

t  9 . 2  L
4 8 8 2

z  I  8  12  17
3 9 1 2 1 8 2 r

(31) g- (32) 
?

8 3

(34) 
6
)

n 2 O
4

(33) 20
1 5

rite these fractions and mixed numbers in simplest form.

(naa or subtract. Write your answers in simplest form.

( 3 5 )  ,  1 8
l - =

1 5

(3e )  t t  2
l 4

^ 1 2+  x -" 1 4

(36)  ^  2 l
+ -  =

27
(37) 37

f,

(38)

(4r) n L
24

* n *

(40) 6 10
l 5

* z !
1 5

(4s)  g !  _  s?  =
9 9

( 4 2 )  A 1  _ 8 1  =
6 6

^ 1 2  , 3
+ - - J -

1 5  1 5

48

(43)

Please continue on the next page.



Logk 
"plltg 

Bible reference for each king, and write his name beside the bar on the graph that shows
how old he was when he became king of Judah. Then complete the activities belo* the graph.

(4s)

b0
.l

,t(
+r

z

(46)

4 6 8 1 0 1 2 1 4 1 6 1 8 2 0

Age

What were the ages of the two men who were closest in age when they became kings of Judah?

and

(47) 
Name the two men who had the greatest difference in their ages when they became kings

of Judah. and

(48) How many men became kings of Judah before age 15?

Fill in the blanks. Say the verse to your supervisor. (4 points)

Kings of Judah

Score pages 47, 48,and 49. I I Correct mistakes. I I Rescore,

49

With the Lord's help, I have done my best. Now I will:

1. Find and learn the answers I missed on the Self Test.

2. Understand all the concepts on the Checkups and Self Test.

3. Turn in my PACE to my superuisor.
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